S®)

a
A
q & SPRAYING DEVICES INC.
1125 Series Electric
Hose Reels _
10/28/04

Spraying Devices, Inc., P. 0. Box 3107, Visalia, CA. 93278 Tel:559-SDI-5555/Fax: 559-SDI-5591




ltem Part S
e s Description QTY
1 59-520 Frame, 1125-4-100E 1
1 59-521 Frame, 1125-4-200E 1
1 59-523 Frame, 1125-4-325E 1
2 59-302 Disc W/Gear 1
3 59-300 Disc Crk Side 1
4 59-499 Center Drum, 1125-4-100E 1
4 59-500 Center Drum, 1125-4-200E 1
4 59-501 Center Drum, 1125-4-325E 1
5 59-504 Axle Assembly, 1125-4-100E s
5 59-505 Axle Assembly, 1125-4-200E 1
5 59-506 Axle Assembly, 1125-4-325E 1
6 59-205 Swivel 1
7 59-228 Pillow Block Mtg, Top 2
8 59-229 Pillow Block Mtg, Bottom 2
9 59-230 Bearing 2
10 59-232 Retaining Ring 4
1 59-510 Pipe Cap 1
12 59-236 Bolt 5/16-18 x 3/4" Lg. g
13 59-511 Trim/Per Inch 9.75
15 59-240 Lock Washer 5/16" 8
16 59-241 Flat Washer 3/8" 4
17 59-242 Bolt 3/8-16 x 1" Lg. 4
18 59-243 Locking Nut 3/8" 4
19 59-247 Motor 1
20 59-305 Pinion 1
21 59-400 Pinion Key/Not Illustrated 1
(ltems Not Shown)
59-120-3 Solenoid 1
59-120-4 Switch with Rubber Cap 1
72-099 Wire 2 Strand 12 Gauge 16’
72-103 Ring Terminal 1/4" 10 Gauge 2
72-107 Ring Terminal 5/16" 16-14 Gauge 3
72-102 Ring Terminal 5/16"10 Gauge 2
72-096 Ring Connector #10 3
72-105 Battery Terminal Clamp Positive 1
72-106 Battery Terminal Clamp Negative 1
70-425 Open/Close Decal 1

Sprayfng Devices, Inc., P O Box 3107 Visalia CA 93278 Telephone (559)SDI-5555 Fax (559) SDI-5591

10/28/04




